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E 2.3| Show thet a regular family of Lrianguler
Meches iu the sense of definrtion (¥) s also a

requlor irianqulation in the scuse of
Definifion 2.3 ! Provide the coustonft

|

E2.6| Compute Npin(Go)= % and Apg(@1) =72

for Courant's élement
5.
1

0
P&)=15% 0 0 1 5

ind X =2 aud ¥ =2 for our modlel
Prob(em (2) on a regular ‘tn'aaja(e/ wech !

Hint: Use 4he resulisof E 2.5

E 2.%| Show tha! the Bff;cha/ac esdimales (11)

are sharp with respect 4o +he h-order , ie.

J g, EL=const >0 ¢f g #clh) and

Amin (Ki) € <5 h* and M (Kn) 2 ¢ pt? !
Therefore: Apis 0(h"), A, 20(h*™) 2(K,) = OCK™2),

E 2.8 Show the spectral e‘7m'm/encc lhe?aelr'l‘fe.f

() & Myt = 1, ) 5, )

'V'sz [u’ﬂ]iewk(—b Up= %: uU)P(x) e ‘Va‘& ,
with the macs matvix M= p ‘;‘.)
k= (3PP ] s, -



